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3aBzaHHs NelO.
OO6umc/ieHHs Yacy Bi/IbHOTO TMaiHHS AesKOTO Tijia 3 BiZJoMOI BUCOTH Ta 3 3a/IaHOI0 TTI0YaTKOBOIO
LIBU/IKICTIO.
1. TekcT nporpamu (36epexkeHi BigCTymn)
#include <iostream>
#include <cstdlib>
#include <cmath>
using namespace std;
int main ()
{
cout << "Insert the high in meters"<< endl;
double high, speed, sign, time, g;
cin >> high;
if (high <0){
cout<<"Error. High is less than zero."<<endl;
}
if (high==0) {
cout << "Warning: you have choosen 0 high.\nIn this case speed must be directed
only upward.\nlf this is your task, please enter the garvity acceleration. "<<endl;
cin>> g;
if (g<9 || g>10){cout<<"Error. Are you on the Earth?"<<end]l;

}
if (g>9 && g<10 | g==9 || g==10){
cout << "Insert the module of speed"<< endl;
cin>> speed;
if (speed<0){cout<<"Error. Module is less than zero"<<endl;
}
if (speed == 0){cout<<"Error. You are already on the ground."<<endl;
}
if (speed>0){double highmax;
double timetot;
highmax=high+pow(speed,2.0)/(2*g);
timetot = speed/g+sqrt(2*highmax/g) ;
time = sqrt(2*highmax/g);
cout<< "Total time:"<< timetot<<"sec."<<endl;
cout<< "Free fall time:"<< time<<"sec."<<endl;
}
}
}
if (high >0){
cout << "Insert the gravitational acceleration"<< end];
cin>> g;
if (<9 || g>10){
cout<<"Error. Are you on the Earth?"<<end]l;
}
if (g>9 && g<10 || g==9 || g==10 ){
cout << "Insert the module of speed"<< endl;
cin>> speed;
if (speed<0){
cout<<"Error. Module is less than zero"<<endl,;
}

if (speed == 0){



1. If downward - press 2."<< end];

timetot<<"sec."<<endl;
time<<"sec."<<endl;

}
-speed/g+sqrt(pow(speed,2.0)+2*high*g)/g;

time<<"sec."<<endl;

}
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eturn O;

-

time = sqrt(2*high/g);
cout<< "Free fall time:"<< time<<"sec."<<endl,

if (speed>0){
cout << "If the speed is directed upward, press

cin>>sign;

if (sign == 1.0) {
double highmax;
double timetot;
highmax=high+pow(speed,2.0)/(2*g);
timetot = speed/g+sqrt(2*highmax/g) ;
time = sqrt(2*highmax/g);
cout<< "Total time:"<<

cout<< "Free fall time:"<<
if (sign == 2.0) {

time=

cout<< "Free fall time:"<<

if (sign >2.0) {
cout<<"Error. Wrong number."<<end]l;



2. Pesynbrar BUKOHAHHSA
a. Bucora fozpathst; 9<=g=<10; Moy BUAKOCTI Oisbllle HY/ISI; IBUAKICTb HAarlpsiM/IeHa BrOpy.

D:AbwtxE\LEroyp\spcbunlabl.exe

Insert the high in meters

}gsert the gravitational acceleration

?ﬁzert the module of speed

}2 the speed is directed upward, press 1. If downward - press 2.
}otal time:2.77598sec.

Free fall time:1.755%8sec.

Process exited with return value 0
Press any key to continue .

6. Bucota pogatHs;9<=g=<10; Mozy/nb MBHUAKOCTI Oisblile HY/IS; IBUAKICTh HallpsiM/IeHa BHU3.

D:AbuwrxE\LEroyp\spcbunlabl.exe

Insert the high in meters

}gsert the gravitatienal acceleration

?ﬁzert the module of speed

}2 the speed is directed upward, press 1. If downward - press 2.
ﬁree fall time:0.735168sec.

Process exited with return value 0
Press any key to continue . . . _




B. Bucora fopatast;9<=g=<10; Moay/b MBUAKOCTI Oiblile HY/Is; HATUCHY/IU He 1 i He 2.

D:AbwrxE\LEroyp\spcbunlabl.exe

Insert the high in meters

}Esert the gravitatiecnal acceleration

}gsert the module of speed

}2 the speed is directed upward, press 1. If downward - press 2.
:rror. Wrong number.

Process exited with return value 0
Press any key to continue .

r. Bucota nonaths;9<=g=<10; Mozgy/b UWIBHUAKOCTI AOPiBHIOE HYITIO.
D:AbwtxE\LEroyp\spcbunlabl.exe

Insert the high in meters

}gsert the gravitational acceleration
}Esert the module of speed

Eree fall time:1.41421sec.

Process exited with return value 0
Press any key to continue .




. Bucora fonarhs;9<=g=<10; Moay/b MIBUIKOCTI Bi/f EMHUI.
D:AbwrxE\LEroyp\spcbunlabl.exe
Insert the high in meters

10
Insert the gravitational acceleration

9
Insert the module of speed

Module is less than zero

Process exited with return value 0
Press any key to continue .

e. Bucora gozathsi; g<9 uu g>10;

D:AbwtxE\LEroyp\spcbunlabl.exe

Insert the high in meters

10
Insert the gravitational acceleration

]
Error. Are you on the Earth?

Process exited with return value 0
Press any key to continue . . . _




K. Bucota Bifi'€eMHa;
D:AbwrxE\LEroyp\spcbunlabl.exe

Insert the high in meters
-6
Error. High is less than zero.

Process exited with return value ©
Press any key to continue . . . _

K. Bucora HynboBa; 9<=g=<10; Moaynb MBUAKOCTI Oiblile HY/S; IBUAKICTh HarpsiM/ieHa Bropy.

D:AbwtxE\LEroyp\spcbunlabl.exe -
Insert the high in meters

]

Warning: you have choosen 8 high.

In this case speed must be directed only upward.

If this is your task, please enter the garvity acceleration.
10

Insert the module of speed

10

Total time:2sec.

Free fall time:lsec.

Process exited with return value 0
Press any key to continue .




7. Bucora HynboBa;9<=g=<10; Mogynb IBUAKOCTI BiJj €eMHUM.

D:AbwrxE\LEroyp\spcbunlabl.exe

Insert the high in meters

0

Warning: you have choosen 8 high.

In this case speed must be directed only upward.

If this is your task, please enter the garvity acceleration.
10

Insert the module of speed

=9

Error. Module is less than zero

Process exited with return value 0
Press any key to continue . . . _

M. Bucota HyboBa;9<=g=<10; Moay/ib MIBUAKOCTi HY/IbOBHH.
D:AbwtxE\LEroyp\spcbunlabl.exe

Insert the high in meters

0

Warning: you have choosen 8 high.

In this case speed must be directed only upward.

If this is your task, please enter the garvity acceleration.
10

Insert the module of speed

]

Error. You are already on the ground.

Process exited with return value ©
Press any key to continue . . . _




H. Bucora HynboBa; g<9 uu g>10;
B D:ALwtxE\LEroyp\spcbunlabl.exe

Insert the high in meters
]
Warning: you have choosen 8 high.

In this case speed must be directed only upward.

If this is your task, please enter the garvity acceleration.
e

Error. Are you on the Earth?

Process exited with return value 0
Press any key to continue . . . _

BucHoBok.

Using namespace std — 1je BU3HaueHHs pocTopy iMeH. [IpocTip iMeH BU3HAYa€eThCA /i CTBOPEHHS
OKpeMoi rpymy izeHTrdikaropiB. ¥ ABOX IPOCTOpax iMeH MOXKYTh OyTH OfHAKOBI ieHTHU(]iKaTopH,
ajie BOHM BB)KaTUMYThCSI Pi3HUMH, 60 Hale)XUTUMYTb Pi3HUM MPOCTOPaM iMeH.



